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QUESTION 1

Which two steps must you perform to enable router-on-a-stick on a switch? (Choose two.) 

A. Configure an IP route to the VLAN destination network. 

B. Connect the Router to a trunk port. 

C. Configure full duplex. 

D. Configure the subinterface number exactly the same as the matching VLAN. 

E. Assign the access port to a VLAN. 

Correct Answer: BC 

 

QUESTION 2

Which type of route is the most trusted? 

A. BGP 

B. OSPF 

C. static 

D. connected 

Correct Answer: D 

 

QUESTION 3

R1 is unable to establish an OSPF neighbor relationship with R3. What are possible reasons for this problem? (Choose
two) 
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A. All of the routers need to be configured for backbone Area 1. 

B. R1 and R2 are the DR and BDR, so OSPF will not establish neighbor adjacency with R3. 

C. A static route has been configured from R1 to R3 and prevents the neighbor adjacency from being established. 

D. The hello and dead interval timers are not set to the same values on R1 and R3. 

E. EIGRP is also configured on these routers with a lower administrative distance. 

F. R1 and R3 are configured in different areas. 

Correct Answer: DF 

To become OSPF neighbors, routers must meet these requirements: Hello interval, Dead interval and AREA number ->
D and F are correct. 

 

QUESTION 4

Click on the correct location or locations in the exhibit. 
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From this computer, the network technician is able to successfully ping to the IP address of the primary DNS server
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configured on the computer. What can the network technician determine about the network? 

A. The DNS server is able to resolve domain names to IP addresses. 

B. The router with address 172.16.3.2 has the correct route to the 10.0.0.0 network. 

C. The names of all the routes in the path can be resolved by the configured DNS servers. 

D. The router with address 172.16.236.1 has a route it can use to reach network of the DNS server. 

Correct Answer: D 

 

QUESTION 5

What is the network address for the host with IP address 192.168.23.61/28? 

A. 192.168.23.0 

B. 192.168.23.32 

C. 192.168.23.48 

D. 192.168.23.56 

E. 192.168.23.60 

Correct Answer: C 

convert bit-length prefix to quad-dotted decimal representation, then from it find the number of bits used for subnetting
you can find previously calculated number of subnets by separating subnets each having value of last bit used for
subnet masking Find that your IP address is in which subnet, that subnet\\'s first address is network address and last
address is broadcast address. Based on above steps the answer is option C. 
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